oLl UBUAL [Aasifaeiondl usl-s1ls
Hoe/1219/981/¢9, dl. 31-01-2020 &l %2

anfeid

AHALZYU Ul
Qe IX

2
@ ulasuust

QLA HIRL 29 9.
ol eURdlAL HIRL Soled €9,

€ HIRL 2 ALY 9 A Al AYg A
dlaeyel aRudl “A ad 9.

g el drl dlds ordl Udel sTal.

€ HIRL Hdludl, Bast 2 addl udl sue Avile
A £2s Rl WA Acudl adlal.

§ WL B A eaelifdi WL ML 2y .

durl seuRl A wyledl ¥ WY Y W\ ©.

(21w ArstRAl QA Al dsund Yads |

foraan s qameTd

A S st
NCEERT

I difdres srgEema R ufraor aRkug
NATIONAL COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING

st “‘%

&
S

ﬂ bt %
g

YA AU WU WEAYRAS HIN
‘lQanu’, As22 10-¥1, AiHlH22-382010



© NCERT, el [eeefl dal aupud A%A Wl Usayds {3, duiEl-o1R
2L USRSl Ad €5 NCERT, dl (el dal dold A% UL Usyds s
€els O, AL WeAYRdsAL SIS Ul owal s uRl 3udl NCERT, -dl [Reell 2t
AAAL A%A WU UlgYdts Heoedl Alid wadll R usilid s asal e,

rdle
Q.o Yl als (s<lHR)
gl gyl e, otg
2l SMd IR, W
2l A9 M. iRl
Al [RaagHiz dl. us

uulau
il seda d. el
sl Svaaed ¥l A
2l aldd 9. deq
gl HogauTiR A, g2l
2l (B ofl. ulu
2l oalglal e, Hiadlul

s
d. A3 ed

AA%A
sl 2N 242, AR
(lvu-4d1ess @ aUBid)

(Ruie-duiw-
Sl 8 A
(el s - aelds)

HGRI-2UALY
2l s 2. dloulul
(ao [Rauus @ Geulet)

USIAS 9Ly AFH AL
Yl. cRdl, [Hauus

Yas

Ndld-l

AP 2L AU 2ARUAsH AvdLAl A58l <l
AL A%RAL AW dAl ARAd WS A GRAAR
weis Qe ol gl dl. 25-10-2017L &4 $HLs HAsY
1217/1036/9 &l 2wl seusl NCERTL wgydsidl 2l
o M sl [Held sl wedl, dd uasla
NCERT, «dl Redl g2t ustld =200 1X AL oUBid [@Qya-
EXEMPLAR PROBLEMS Y2eis+il asudlil 2isjale ‘“AH13u
usAl” [anelail Ama Ysdl ol2RUd AR AL USRS Hol
§lde 2rod 9.

L AHAL3Y Uil aie dal d-l Auxlan Hwud weust
el (2851 Wl sAClelHL el 9 el uHlasiu
AAAL HUAAIR S2AUAUL 10U YHIA-AHIRL 54l Ul 2L Yres
URg sl uddl 2l Yadasdl Hyl w2 s AxA -l
ABLal 22l sl 2udl. 200 APl 1l NCERT+UL
ulalHfE dls RIE, clulasl GuRad 8dl Rwudisdl e
cifeaxly stdfauloia udlo sl iy 2 Ydsa
M 23U uudiml >, Ful . 2. dl we, sl wagw 2.
oz, gl 29 diRla, 2l eda e, sl [RawgHi ds, sl
Sraaen e, 2l sMA9 oz, . €3 oes, L wtaHl FHR ol
(2. 28, €., eliuia), . A9 UsaAAL (2. 215, 6., clluie)
2 GURAA 6] Wldll S1Hcdl YL 247 HTeAA YA YLK B,

Wad Yeeisl @UE, GUA] 2 aldRldd otiaal e
€ gL Ydl sl dai wudl 9. du eodi, [Reemi A
q1adR dlsaail wael oiddl ddid ddl YUl viasd 9.

NCERT, +dl [Reclldl AssR oled el 2Ueul ¢dlt.

Ul. audl (1AS)

[Faiss s1AAl8s UHbL
dl. 16-06-2020 auLefl-o12

gl 2020
ulsayds Hem, ‘[aeas’, dAsex 10-, aHlda adl




FOREWORD

The National Curriculum Framework (NCF) — 2005 initiated a new phase of development of
syllabi and textbooks for all stages of school education. Conscious effort has been made to
discourage rote learning and to diffuse sharp boundaries between different subject areas. This is
well in tune with the NPE — 1986 and Learning Without Burden- 1993 that recommend child
centred system of education. The textbooks for Classes IX and XI were released in 2006 and
for Classes X and XII in 2007. Overall the books have been well received by students and

teachers.

NCF-2005 notes that treating the prescribed textbooks as the sole basis of examination
is one of the key reasons why other resources and sites of learning are ignored. It further
reiterates that the methods used for teaching and evaluation will also determine how effective
these textbooks proves for making children’s life at school a happy experience, rather than
source of stress or boredom. It calls for reform in examination system currently prevailing in the

country.

The position papers of the National Focus Groups on Teaching of Science, Teaching of
Mathematics and Examination Reform envisage that the mathematics question papers, set in
annual examinations conducted by the various Boards do not really assess genuine understanding
of the subjects. The quality of questions papers is often not up to the mark. They usually seek
mere information based on rote memorization, and fail to test higher-order skills like reasoning
and analysis, let along lateral thinking, creativity, and judgment. Good unconventional questions,
challenging problems and experiment-based problems rarely find a place in question papers. In
order to address to the issue, and also to provide additional learning material, the Department of
Education in Science and Mathematics (DESM) has made an attempt to develop resource book
of exemplar problems in different subjects at secondary and higher-secondary stages. Each
resource book contains different types of questions of varying difficulty level. Some questions

would require the students to apply simultaneously understanding of more than one chapters/units.



These problems are not meant to serve merely as question bank for examinations but are
primarily meant to improve the quality of teaching/learning process in schools. It is expected that
these problems would encourage teachers to design quality questions on their own. Students and
teachers should always keep in mind that examination and assessment should test comprehension,

information recall, analytical thinking and problem-solving ability, creativity and speculative ability.

A team of experts and teachers with an understanding of the subject and a proper role
of examination worked hard to accomplish this task. The material was discussed, edited and

finally included in this source book.

NCERT will welcome suggestions from students, teachers and parents which would help

us to further improve the quality of material in subsequent editions.

Professor Yash Pal

New Delhi Chairperson
21 May 2008 National Steering Committee
National Council of Educational

Research and Training
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PREFACE

The Department of Education in Science and Mathematics (DESM), National Council of
Educational Research and Training (NCERT), initiated the development of ‘Exemplar Problems’
in science and mathematics for secondary and higher secondary stages after completing the

preparation of textbooks based on National Curriculum Framework—2005.

The main objective of the book on ‘Exemplar Problems in Mathematics’ is to provide the
teachers and students a large number of quality problems with varying cognitive levels to
facilitate teaching learning of concepts in mathematics that are presented through the textbook for
Class IX. It is envisaged that the problems included in this volume would help the teachers to
design tasks to assess effectiveness of their teaching and to know about the achievement of their
students besides facilitating preparation of balanced question papers for unit and terminal tests.
The feedback based on the analysis of students responses may help the teachers in further
improving the quality of classroom instructions. In addition, the problems given in this book are
also expected to help the teachers to perceive the basic characteristics of good quality questions
and motivate them to frame similar questions on their own. Students can benefit themselves by
attempting the exercises given in the book for self assessment and also in mastering the basic
techniques of problem solving. Some of the questions given in the book are expected to
challenge the understanding of the concepts of mathematics of the students and their ability to

applying them in novel situations.

The problems included in this book were prepared through a series of workshops organised
by the DESM for their development and refinement involving practicing teachers, subject experts
from universities and institutes of higher learning, and the members of the mathematics group of

the DESM whose names appear separately. We gratefully acknowledge their efforts and thank



them for their valuable contribution in our endeavour to provide good quality instructional

material for the school system.

I express my gratitude to Professor Krishna Kumar, Director and Professor G.Ravindra,
Joint Director, NCERT for their valuable motivation and guidiance from time to time. Special
thanks are also due to Dr. R.P.Maurya, Reader in Mathematics, DESM for coordinating the
programme, taking pains in editing and refinement of problems and for making the manuscript

pressworthy.

We look forward to feedback from students, teachers and parents for further improvement

of the contents of this book.

Hukum Singh
Professor and Head
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THE CONSTITUTION OF
INDIA

PREAMBLE

WE, THE PEOPLE OF INDIA, having
solemnly resolved to constitute India into a
SOVEREIGN SOCIALIST SECULAR
DEMOCRATIC REPUBLIC and to secure
to all its citizens :

JUSTICE,
political;

LIBERTY of thought,
belief, faith and worship;

EQUALITY of status and of opportunity;
and to promote among them all

social, economic and

expression,

FRATERNITY assuring the dignity of | ©)
the individual and the unity and integrity |°

of the Nation;

IN OUR CONSTITUENT ASSEMBLY
this twenty-sixth day of November, 1949,
do HEREBY ADOPT, ENACT AND GIVE
TO OURSELVES THIS CONSTITUTION.
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531 ZABC + £DEF = 180°.
B o
2usld 6.13
n
ool e
7. >ugld 6.14 i, DE ||QR dal AP i BP 4
/EAB ¥+ /RBA- [geusl €, dl ~APB 2l Q B / R

2u5ld 6.14
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8. s [Busieiil vRulidL Wiusl ORI 203 14 8. i Bl ARd vRudAL Hiu 2liMlL.
9. [siaL ABC i vRil A stesial 9. AL L BC 2 dq, (Big L 3 BC U2 »udd 9. qlbid 520 5
/ZBAL = ZACB.
10. 6 (Bt 20Ul 2iegsi 6L URUR ARIAR Ul dot . A S 5 L 6L B YRR
AR 9.
[A2gd el usit

Gewg2el 1 ¢ vusld 6.15 Hi, URUR dod 1A dal 6 Alel AL
m A 7 2N 9. ABLA sA 5 2ud R CA ¢
yraldd (3280 BD u3u2 AqHidR 9.

B : Rl 3 Big A 4 B U 212¢ dol [Big P |l 44 9,

Ul AU YRR ot 9. W2 BP || OA »i1 AP || OB. wgld 6.15

ddl BP | PA »ied 5 /BPA = 90°

e, /3 + /2 =90° (vpaunL MR-l o) (1)
2w, L1 =204 4= /3 (udd S8 = YRAdd- 519)
e, Z1+ 24 =90 [(1) uRdl] ?2)

(1) 24 (2) ~ll HRALOL $dl,
2R 1+ /2 + /3 + /4 =180° w4,
»ed %, /CAB + /DBA = 180°

w2, CA || BD
Gelsel 2 ¢ Abid sA 5 SRl ARA wRUAL A0 A
180° ald €.
Bie : H10-TX ~il oUBldL UisAYRASHL 2l Uiy 6.7 <l
ALl il
Gelsel 3 ¢ [Bisier ABC il vgit B vt vg C AL [goiesst
wsoilogn [Blg O HL Dedl ¢, dl B 52U 5,
1 B C
/BOC = 90° + EAA
R . _ . o »usld 6.16
B5e @ adl, 2isld 6.16 M tidiedl wHRL gl el
/A + /ABC + /ACB = 180° (Bustari viguaiin aawuHl [Raw)

s 1 | | 1 o _ ano
MZ, 5 ZA+ 5 ZABC+ 3 ZACB =5 x 180° =90
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ved 5, — /A + Z/0OBC + ZOCB = 90°

=

(BO i1 CO 450 /B i ~#C U [geuas Siael) (1)
w3, /BOC + ZOBC + ZOCB = 180° (Gisisi veuti-n Aawunl [Ramn) (2)
uReuH (1) < wReus (2)Hiel olle sdl, el

/BOC + ZOBC + ZOCB - % /A — Z0BC — ZOCB = 180° — 90° 44,

N

2ed 3, /BOC = 90° + % /A

XWRUY 6.4
ABLA 5 5 URUR Dedl 6l vul oirddl 2ALHSE0 HHIA Sid €.
AABC ¥l »id:slel /B il [goiws 2 aldssier ZACD < [gours [blg T Hl el €, dl

A 530 % /BTC = % /BAC.

s BlRsl 6 AHIdR U B2 O, A 52U 5 2L AR WU AL d-fl Slesiel el
sietedl s s AL [Geuorst U dHIdR €l 6.

UG S 5 2Ule i, e Bigrisl 215 2 W s % dolvi el asid.

(n : [QRenadl uglaal A6l 2uul. )

6L 0L s UM Bl WUl del 9. 0B 52U 5 2L 6L UL UBL AR B .
(2 : (ARl uglael AuEdl 2ul.)

P
AU 52U 5 [(BAsioil Leoml oL 6L vRIL dgsiel % Sl
sl 6.17 4, #/Q > /R. /QPR-ll [gouxs
PA ¢ 24 PM L QR. aul®d s 3
ZAPM = £ (£Q - /R).
-
Q M A R
2usld 6.17



[Pistal

I

[adouadis

Hou AsEUUL i uRRUHL

o [Asial e ddl ioll, Busiadl 2453udl, RiRilsigii-l Aotddl, Bisterdl »is3udl Hedl ardl :
() ouvol (if) view, (iii) elouoll (iv) sisel

o oy Axdxl s [Alre uRRAMRUL Bustadl szudl Hiedl vuol 9.

o  [sidl Aanird ougi-dl AL vRIPL AHIA Gl 9.

o  [usiairl Auirl vl A1u-l ool A Sl 9.

o o (ot (gl wu 2idr 2idd SIS ul [Big 2utd 6 [Pgalin lsdl il dellgeuoss
U2 2dd Sl 8 i d Udlu.

o 6l uUR Bedl JvualiEl AHIA 2dR Hdd SIS uRL [Blg d JeUBdL gIRL oidl vRuHL [geuws uR
lAd €l 8 A e Ucdlu.

o [usimmi,
() el veusl -l ol HiElL gl 9.
(i) 12l ouy~il AL vl ML gl 9.
(i) SIS uBL 6L o1l UL dil >l 6lly sl AU 1M,

[Qui A o1 A d 2uua 212 [Asenmidl Aoy [Asey ude 53] DA us-l G 2uul.

Bele28L 1 : %l A ABC = A PQR 24 A ABC i1 A RPQ 21534 -l €14 dl <l 2uud [aseqimiyl
sUl [asen qy gl ?

(A) BC = PQ (B) AC = PR (C) QR = BC (D) AB = PQ

B4 : Adlddl ABC <> A PQR »is3udl Adl,



50 AR - AHU3u usl
A ABC = A PQR

- BC #PQ (2udl BC = PQ s ~dl.)
B2 : (A)
ALY 7.1
(At s o d d 2uden 1R [Qsenmidl dlou [Aseu wie $3 suis 1€l 11 awu wsiHl vudl
oYL YR :
1. 2uud Adl Usl 55 ad Bisiedl 2153udl vl a:d el ?
(A) olvolL (B) ol (O RMETER (D) ULl

2. % AB =QR, BC =PR 2114 CA=PQ, dl ..........
(A)AABC=APQR (B)ACBA=APRQ (C)ABAC=ARPQ (D)APQR=ABCA
3. % AABCH, AB=AC 214 Z/B =50° ¢, dl £C = ..........

(A) 40° (B) 50° (C) 80° (D) 130°

4. % A ABC Hl, BC = AB 211 /B = 80° ¢4, dl ZA = ..........
(A) 80° (B) 40° (C) 50° (D) 100°

5. %A APQRHI, ZR = /P, QR =4 A4l 214 PR =5 A4l ¢y, dl PQ «l dous .......... 2
(A) 4 A+l (B) 5 aHl (C) 2 adl (D) 2.5 Al

6. A AABC 4l 6uy BC Uz [6ig D 21dd © 2t AD 3 ZBAC -l [gours €y, dl ...
(A) BD = CD (B) BA > BD (C) BD > BA (D) CD > CA

7. % A ABC = A FDE ddl AB = 5 34l, /B = 40° 211 A = 80° 20Ud <, dl lAHigl
.......... [Asey AL 9.

(A) DF =5 adl, /F = 60° (B) DF = 5 @Ml, Z/E = 60°
(C) DE = 5 a4, ZE = 60° (D) DE = 5 a4l, #D = 40°

8. [(staidl 6l ouoglel 3y 2isi 5 Al 2 1.5 AL 8. L ol oy W ... ESIEDIN
(A) 3.6 A+l (B) 4.1 wdl (C) 3.8 Al (D) 3.4 Al

9. APQRH % /R > /Q &, dl ..........
(A) QR > PR (B) PQ > PR (C) PQ <PR (D) QR <PR

10. st ABC i+ (15181 PQR 4, AB =AC, ZC = 2P 2 /B = 2Q €, dl i oid (51l ..........
(A) uHlgony €9, uid s34 -l (B) uHlgoly 2 253U .
(C) 153U 8, uiq uxlgony -l (D) Anlgonsy uel el vt 1534 ugl -l

11. (15180 ABC 24+ DEF i, AB = FD 244 ZA = /D ©. % .......... Sl dl 2uud oiq [Busiel
GULAGIL YAHIRRUL UHISL HA53U ¢l
(A) BC = EF (B) AC =DE (C) AC =EF (D) BC = DE

5120 Al 5 wawell usit

Gers2el 1 : [(Busia ABC A4 DEF #i, AB = DE i+ AC = EF €. »UUd ol Blsia-l s34l 6 veul
AHIA Al ol 2L P50 2153 A1, 5101 Aled G ALl

B5a : %33] 6L vRul, /A 2 /B A €U 2ds B, A /A = /B 2 dl vl A UHIEG
A ABC = A EDF.

Bels2el 2 : (A58 ABC 21+ DEF 4, ZA = /D, /B = ZE %+ AB = EF dl 1l 6l (35l 21534
56l wsu ? 51280 Aldd Gd L.

B5a @ i 6L BLsiel s34 € d 330 «dl, 5122 3 20la Bisielti AB 249 EF 2134 ouggil .
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ALY 7.2
A ABC »i- APQR ¥i, ZA= /Q 2+ /B = /R 8. A PQR ~l 59 6119 A ABC +l iy AB
A AHIA 1A dl 2UUE i PISel 2534 AU ? 51010 Aldd G Ul

2. [As518 ABC i1 PQR 4, ZA = ZQ %l Z/B = ZR €. A PQR ~il 59 611 A ABC +l 61y BC
A AHIA 1A dl 2UA oid PISel 2534 AU ? 51010 Aldd G Ul

3. “o SIS s Busiaidl oL sugil i SIS wis el ol Busiasdl ol eyl A 1S 25 vRun
AHIA Sld dl 21 oid PSR 20534 % €l 21 [Q4t A © 7 AL | ?

4. ol 515 s BLSRIAL 6L RIS 2 SIS s oy ollon BLEIRLHL 6L WRUSL 24 515 s oA
AHLA 1A dl 2l ol P58 2534 % SlU” 2L [t At €9 72 L W2 ?

5. ougliddl dousS 4 A+, 3 Al A 7 AL AS 51 Bs@dl @A wsy 9 7 dHAL G |
51201 UL,
A ABC = ARPQ U4 8. dl BC = QR $8d A4 & 7 L we ?
%l A PQR = A EDF 84, dl PR = EF € dq, s¢l 2514 7 dHIL G Hi 1281 Ul

8. APQR ui, ZP = 70° 2t ZR = 30° . il Bisiarsil 568 ol el aioll © 7 si201 Al G
2L

9. A ABCHi, AD 312U . dl AB + BC + CA > 2AD A €9 ? 51281 Aled G UL

10. A ABC il 6uy BC u2 g M 2udd © %2l AM 31 ZBACHL [gours . 3 séd A & 3
Bisiat ABC <l uRBil 2AM @l 112l 8 7 s10L ulEd G il

11, <l ougii-il dons 9 Axl, 7 Al 2 17 Al €l dal Busiesdl 2L ass 9 7 sie uldd
G AL

12. <l ougiisil dousS 8 Al 7 Al A 4 Al Glu dal Buswaedl @ asy © 7 s19 uldd
G AL

25 ogalell usil .

Bewaw 1 : 2ugld 7.1 4, PQ = PR 214 2Q = ZR 8. Al5id
53 5 A PQS = A PRT. S

B34 : A PQS il A PRT i, P

PQ = PR (2u0e 9.) R
Q= /R (2 69.) sl 7.1
w4 ZQPS = /RPT (AL, BRI -
"2, APQS=APRT. (voumy)

Gewg2el 2 @ gl 7.2 i, 6l WUl AB 24 CD uur [big

O 4l 9% . BC || DA i+ BC = DA. 0l[6id 521 5 AB i+
CD « 3=loig O ©.

B34 : BC || AD (CETRICI N
we, ~ZCBO = /DAO (2c:you sia)
w4 /BCO = ZADO (ct:yon s11) w5l 7.2
¢d, BC=DA (2084 €9.)
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adl, A BOC=A AOD (mouvy)
H2, OB =O0A 21 OC = OD

22d 5 [bg O, AB il CD o Heloig 6.

Gelam 3 ¢ 2ugld 7.3 4, PQ > PR dal QS il RS atsH £Q 2+ ZR - [geuwst €. ulbid

533 SQ > SR :
Bs4 : PQ > PR (aa 89.)
w2, /R>/Q (HIEL buogll AL vRl W2l €l 8.)
asl,  ZSRQ > ZSQR (MAS vRUAL A34L)
“2, SQ>SR (W2t veuHdl sl oo HIA S) g R

Y 7.3 2usld 7.3

1. udlgouy (15110 ABC 4, AB = AC © dil BD i+ CE dril ol 120Ul 6. lbid s 5

BD = CE. A
2. gl 7.4 wi, A ABC <l 61y BC 4 BD = CE 24
AD = AE &l ddal 6 (Big>ll D 21 E 6. 0ad 531 %
A ABD = A ACE. , ,
B ' D E  C

2usld 7.4

3. A CDE i AR ABCD -l 6119 CD Uz oistdl a4ouy Bisial
9. (dugld 7.5) ulHd 2 5 A ADE = A BCE.

E
2usld 7.5
A

4. sl 7.6 di, BA L AC 2+ DE L DF 20U 6, dal /\C
N\ NN E
BA = DE 21 BF = EC. il 53 3 A ABC = A DEF. . F\/

5. A PSR il 6y SR 42 PQ = PR iy dq [big Q €. ullbid 2usld 7.6
52U 5 PS > PQ.

6. APQR-l 6uy QR Uz (g S 2udd &, Al 5A 5 PQ + QR + RP > 2PS.

7. A ABCHl 6l AC U2 AB = AC 214 ddq, (g D . AUlBid 521 5 CD < BD.
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N
v
~

8. gl 7.7 1L, 1| m 2 2ouvis AB o Healslg M 9. l6id
s 5 [y M ol gl 2iclbigyll s il [ 24 m WR M
ldd 11 2dl S5 w8l v CD o Hefolg Sl

N
N
3

D B
2usld 7.7

c

9. AB = AC ¢l dau aulgeiy Brsieil vl B vid C - [genesst uu (6l O |l 98 9. BO -
[6ig M yHl dowda €. d 521 5 ~MOC = ZABC.

10. AB =AC €l ddl A3lgeny Busiat ABC -l vl B 2 C AL [geuasl wu [Blg O 1l 92 6.
A 52 5 ZABC A A~ €l ddl eldssie. ZBOC A A 4l A

11. »usla 7.8 di, AD 21 ZBAC -l [geuws €. albid s %
AB > BD. B

D
2i5ld 7.8

[Ad2gd sl usil

Gegawl 1 ¢ usl 7.9 4, /B sleviBll €l ddl siesier (Bisiee ABC & asll, /BCA = 2/BAC.
AWleid A 5 58l AC = 2BC.

B4 : CB A Big D Ml doudl %4l BC = BD a. AD %idl. A
A ABC i+l A ABD Hi, x
BC = BD (-1 gIRL)
AB =AB (i, ouy) c = b
/ABC = /ABD (U5 90° ©.) B
w3, AABC=A ABD (oo ) 2uld 7.9
adl, ~ZCAB = /DAB (CPCT, 1534 Bisiadl »1q3u sug2ll) (1)
w4 AC=AD Q)
w4, ZCAD=,/CAB+ /BAD =x+x=2x [(1)u22]] A3)
x4 /ACD = /ADB = 2x ((2) u2dl, AC = AD) @)
ald, A ACD 4oy 9. ((3) 11 (4) uRAl)
2»dl AC = CD
224 3, AC = 2BC (BC = BD <) 1)

BELSRQL 2 ¢ A 53 3 A 35 BASIE-AL 6L vRUL 2im Hddld 6%y 2issi ollon BLsieinl 6 vl i
Bl 6l AHLA Sld L 2L 6L BLsigL 1534 8,

Biet @ HiRRL IX Al Aldrl wsyrasHi uda 7.1 L ulbidl gl

Gelgaml 3 : Busiardl SIS s vRuHlL [gones ol 21 veuHl AL ouy- Ul goudl dl Aulsid s 5
e Busier wnlgony .
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B4 : 2uRdl A ABC +il 619 BC u2 Big D utd 9. el A
ZBAD = ZCAD i+ BD = CD i, (%l »usld 7.10)
sl AB = AC i s2al 6.
AD A [6ig E yHl dondl o2l AD = DE 4. CE %4l
¢d A ABD i1 A ECD ¥, 2luel-
BD =CD (auna 89.)
AD =ED (-1 gIRL)
¢4 ZADB = Z/EDC (uldsia)
W2, AABD=AECD (uvon) 250 7.10
adl, AB=EC (CPCT, 21534 Bistaqi 2443w ioll) i 1)
w4 ZBAD = ZCED @)
aull, ~BAD = ZCAD (204 9.)
Hi2, ~CAD=/CED [(2) u=dl)
adl, AC =EC (A vRudl Al ugil) A3)
W2, AB=AC [(1) 241 (3) uRdl]
Gelganl 4 : [Bg S 3 A PQR -l el ool 6. ubid s2U 5
SQ + SR < PQ + PR
Bse : QS A doudl %l d PR < [big T+l 8 (%2l 2usla 7.11)
APQT wdl, 2uueid PQ + PT > QT uaal. (516 uel ol
oLl UALOLL 19 61 Sl AU Sld 9.)
ved %, PQ + PT>SQ + ST 1)
A TSR vzl 2Au8+ ST + TR > SR 444l )
uReuH (1) 244 (2)L A0 52,
PQ + PT + ST + TR > SQ + ST + SR Ha4l.
ved %, PQ + PT + TR > SQ + SR
e 5, PQ + PR > SQ + SR
MYl SQ + SR < PQ + PR

Q R
2usld 7.11

AR 7.4

1. udouy Bustael ol o vRustisl Hiu bl

2. wugld 7.12 |l ottt uHelL [Big D uR dal [H2las
Audd AL LM <l 41 515 25 [Blg A u v
At ulcleior (Blg B u2 oial wa . aubid 30 5
ulalior w301l usn edl o d HAd wedl . . .
2 22l AR arq, AN 6, A N D
(Mat © ON o AR elRe dol 9. due,
2UULASIEL = YRAdd 518L)

3. AB = AC ¢4 ddl qulgeny Bisiel ABC & 2 AD | BC & dd (6l D 6uy AC U2 »uud
9. (il 2usla 7.13). ZBAD = ZCAD Albid 521 He [aenal <12 uxigl agsud s2 8

2usla 7.12
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A ABD 211 A ACD #i, A
AB =AC (204 €.)
/B =/C (AB = AC €lcudll)

¢+ ZADB = ZADC

“e, A ABD = A ACD (vupon)

dell, /BAD = /CAD (53U (sl 2143 »id0)

Gu ule dsui o M © 7 m

(2 dle 5A 5 @ AB = AC 2Ud €l AR /B = ZC dl B D ¢

Ad WG 30 asw.) sugld 7.13

4. P 3 ZABC - [gours uz »udd [Big ©. P diell uR adl 244 61y BA <L AdidR vl ouy
BC -l Q ¥l ©9¢, dl Alleid 520 5 Bisiel BPQ uxlgony Bisisl .

5. Adsiel ABCD HL AB = BC 24 AD = CD 8. qlid s 5 BD 6id wau ZABC i
Z/ADC -l [geuws .

6. slesial (Bisiet ABC 4l AB=AC 8. ZA Al [geurs BC + D ui 92 9. Ail6id 531 5 BC = 2AD.

7. OAB s Axouy Bisial o d ZAd 2l ABCD il »igr-il ®ail [blg O 2udd 9. Aubid 52U
5 AOCD uulgelsy Busial 6.

8. ABC 2t DBC 2 a4t Wl BC ur 2idal o6 Bisiar 9. A 244 D wal BC il (&g [Rauni
8. AB = AC > DB = DC 8. al3d 531 5 AD 1 vuvis BC AL dailgouss .

9. %l AC = BC &1 dl uxlgeny Bisisl ABC 6. AD it BE 54 61y BC 21 AC -l A4
8. B 52 5 AE = BD.

10. At 521 5 Busiardl 515 ueL 6 ool AL dsil >{12 olgel Adld He2lLAL ttHRUL dHLR 1Y 69,

11. 0bid 52U 5 Agesiel ABCD 4, AB + BC + CD + DA <2 (BD + AC).

12, AlBd 51 5 Adrsil ABCD Hi, AB + BC + CD + DA > AC + BD.

13. 518 s BisiaL ABC A, D 24 iy AC < Heulbig ¢ &l BD = %AC A, A 52U 5 ZABC
slesieL 8.

14, Al sA 3 sese Busidl, seiqdl qabigd »a dsdl am-a RAGEA Al ivisd Wy
el MU Sl 2 €l B,

15. U2 O [Bigyl Bedl 6L 2ol 7 24 m 4l Ax 2idR 2dg Big P, [bg O Hiall w12 adl
SIS s il 7 UR 2iAd 9. UG S 5 Al 7, AL 7 A m Al el vRIA g0UdL 8,

16. AHdoL A5t ABCD L AHIdR Uyl AB 24 DC Al H[Big2il 2A4sd M 241 N« %lédl
Auuig ol UHIAR ol AB sl DC A dol €9, auleid 521 5 AD = BC.

17. Aqrsiel ABCD 4l [asel AC, ZA 24 ZC 4 gl 8 dl aled s 3
AB = AD -l CB = CD.

18. stesiel (Bisial ABC Mi AB = AC €9 dal 2C il [geuws oy AB <L D Hi 92 9. Allbid 50 5
AC + AD = BC.

19. AB 2isl CD 21 Aqesi8L ABCD il 2Assi el il 247 08l {1l ougall 8. /B 2 2D i
sl vRLL Hi2l 9l d 55l 3.

20. AU 5 5 AoUy 4 Sl ddl 515wl Brsiaul Alel HEl ougsil AL vpRId WY sleviusl
% MOl Sl MIE €U 9.

21. %4l AB = AD 214 CB = CD ¢l ddl agsiel ABCD €. afsid 52U 5 AC 21 BD -l

dollgars €.
[ |
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[Adouadis
Hoy Aseu-il 27 wRouH)
o Aqrsiaiell ougil, WAL A (3531, A A0l WSl AL -
AHCAGL AQPSIBL, AHIAROUY ARSI, AOARY, AHOUY AQPSIBL 2 2R3,
@  ALSIBLAL AR A VBRULHAL AALL 360° 6,
o udidousy Agssiadl [Asel dn o 2s3u Brsiani [oulsd 53 9.
@ UHIAROUY ALSIAML,
()  AMAHAL VRULL AHLA
(i) AHAHAL ol AHIA
i) [Asell isoilosd gaudl O,
o o ASIAAL,
(1)  AHAMAL WU AL €1
(i) AHAHAL ool AL S1Y
(i) [Asell isoilo gaudt
(i) AL w25 oAl ougl A A AHIAR €14, dl d AHA AHIdReUY
Arsiel o,
corlRAAL (A5 URRUR £OUSL B it AHIAL © 2 drd Ul ULl U 8.

0.
8.

AHOWY AR [A5RUL URUR 512081 L0199 i e UdlU uRL A D,

ARAAL [ASEIL URUR 51208 LIOL €9 el AHIA 69 e e, Ucdlu uRL A D,
Bustael 6 ouogdinl Healbigdiia sl 2uivls 2 2l Uy AHIdR 9 2 d-uel 214881 9.

Bistadl 215 ougeil qealsiguial Uiz adl 2 ofle o=t AHidR il 2l ouy- gouol ©.
Aqrsiatdl oyl HABigplid suHL Al oiAdl ARSIl AHIAROUY AdpsiaL 8.

e NN c c ~ .
(8¢ AqesiRel e o33 u ARS8 AHDY.
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-

[t u o a4 Ad 2uta AR [Asennidl dwu [Asen yie 53 DA waisl vuel ooul yRu

-~

BELSBL 1 @ AHIdReUY AL ABCD « [Assil [Big O 4 88 9. %1 ZBOC = 90° i
Z/BDC = 50° ¢4, dl ZOAB = ......
(A) 90° (B) 50° (C) 40° (D) 10°
G54 : ZBOC + ZCOD = 180°
. 90° + ZCOD = 180°
.. ZCOD = 90°
ACOD Hi 90°
ZCOD + £0DC + Z0CD = 180°
5. 90° + 50° + ZOCD = 180°
.. ZOCD = 40°
. N A O
ZOAB = ZOCD =40°  (id: 3o45131) A D
ogciel (C)

6{l2 2d : ZOCD = 90° — ZODC =90° — 50° = 40° 5120 5 A BOC 31 A OCD -+l &[3d518 6.
AU 8.1

[Qa At 611 A Ad 2uudal AR [Asenmizl au [asey e $3) sHis 1 9l 14 v wsiHl vudl
%YL Y2 :

L. SIS w5 AQeSIRAL 2181 WRUSIL HAdsH 75% 90° i 75° S, dl AlAl WRlL MY ... 8.
(A) 90° (B) 95° (C) 105° (D) 120°
2. doiRudAl [asel doiiRausdl s1S s oug A 25° Husdl vRlL oidld B, dl 6L [Aseilel et
AgsleL HY e, 8.
(A) 55° (B) 50° (C) 40° (D) 25°
3. AHOUY AL ABCD % LZACB = 40° 9. dl ZADB = ..........
(A) 40° (B) 45° (C) 50° (D) 60°
40 B s
(A) PQRS @6t i, dl (B) PQRS AHidRoUy AQsIRL €1y, dl
(C) PQRS il [as0ll uuz dol €, dl (D) PQRS -1 [a5eil AxiA €1y, dl

Arsiel PQRS «fl ollg2didl HelGie i sl wgiscuall oirdl Aesial doizy S,

(A) PQRS M6l Ad5IRL €14, dl (B) PQRS AMid06U1Y Adssiel €1y, dl

(C) PQRS il [as8ll Y4z dol €, dl (D) PQRS L (a6l Auir €, dl

Arslel PQRS, L 6uglicl Healbigolind s3ul glsalell otridl Adpsial Aoy Aesial S,
6. Aesll ABCD il wRusll A, B, C 24l D L 902 3:7:6: 4 €14, dL ABCD 2 ......... 8.

(A) AHOUY A5 (B) AidRoUY AesiRL

(C) AMdoL Aesivl (D) udal
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10.

11.

12.

14.

A8 - 443U Usll
Aesiel ABCD 4l ZA i ZB - [geuast Big P ui, ZB 24 £C - [geuest [Bg Q i, £C
2 2D <AL (Blg R AL el ZD il ZA L [geust (Blg S |l 99, dl Aqesiel PQRS i ... 0.
(A) doiRA
(B) uHouy Absial
(C) AMIdROUY AdsIRL
(D) ALHAHAL VRUSIL Y5 512 1A dall Aqeslal
% APB i1 CQD 6 URu AMidR Wl €, dl veusil APQ, BPQ, CQP i+ PQD -
Geuwst ... ol €9,

(A) ARA (B) uuolly Adesial

(C) oA (D) 518 ollogl AHIAR6UY Ad5IRL

Aoy Aesiaidl ologpiial Hlogsid suHl sl ordl sugld ... 6.

(A) AHOUY A5 (B) doilt

(C) A=A (D) 5185 8L AHIAR6UY Assial

AABC 4, 6U%21l AB 2t AC -l Hlblgil i3 D 214 E 8 dall el BC U 516 [Big O »udd
9. 0 L AU A 9. % OB il OC Al HAU[GIgl 21453 P 2t Q €14, dl DEQP ......... 2

(A) Al (B) doti

(C) AMOUY AR (D) AHicdR01%y Adsiel

B e,

(A) A5l ABCD A=A AQesI8L Sl dl

(B) Arsiel ABCD L [assil 241t €, dl

(C) st ABCD +it [A5811 AHIA 1A WU dot €ld, dl

(D) Adrsiel ABCD ~it (sl uu dot €y, dl

AL ABCD il Heu[Begaiid sl osaidl ol susla a0 i,

AHIAROUY AL ABCD L (A5l AC 24 BD wwur Big O Wi 88 8. A ZDAC = 32° 2ir
ZAOB =70°, dl ZDBC = ..........

(A) 24° (B) 86° (C) 38° (D) 32°
. UHIdReNy AdeslaL Hie <l i [l ..., [t A <2l
(A) AHALAAL ologEL AMHLA 9. (B) AHAAAL VRIS AHLA 9.
(C) [asel AMAHAL WA geoudl 8. (D) [asail 2selloast gaudl

AABC i 6%l AB 241 AC 1l H[Big2dl 253 D 2L E 9. DE L F 34l dowdd 8. CF 21 DA
L AU 2L AHIAR B A, WA sa e 1A st B4l qeuRie{l Hulecdl-l %32 usal.
(A) /DAE = /EFC  (B) AE = EF (C) DE = EF (D) ZADE = /ECF.
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5120 Al 5 wawell usl

BELS2BL 1 : ABCD AHid2eily Aqb5iel 9. A d-l [@Aseil a4l €id, dl ZABCH 3w 2kl

N

B5e : AMIdROUY Ae5e ABCD AL [Aseil auiq 9, dell d doiaa 9.
Hie, ZABC = 90°
BELSBL 2 ¢ “Uuouy AQeslal [Asell UuI 2in UM dol 8.7 L [ A B 7 s Alsd
Briz .
B5A : 20a (Al A D, 518 3 AHOUY AQssIA-L (52l uRU dot S 9, Uid AHIA SIU d
33 Al
BELS20L 3 ¢ AGesel ABCD il AR DRI AU 8. o AHIAR6UY AQSIRL 9 7 51 2aal 53 ] 7
B5a : d uMideuy AQsel dl1 A w3 e, SRR 5 B LA = ZB = ZC = 80° i
ZD = 120° a2 dl ZB # £D 44l
Belgael 4 @ Al ABCD <l [asgil AC 24 BD isoilatd [big O «i 92 8 ]
OA : OC = 3: 2 9. A58l ABCD AHidR0U% AQesioL 6 7 L Hie iadl e Hie el ?
B5d : ABCD dHIdR0Uy Agrsigl ell, 5138 3 uuidousy Agesiadl [@sell sisolad geudl 8. w1l
OA # OC.

AL 8.2
1. AdidRousy Agssial ABCD it [Asell AC 14 BD siseiloast [big O ui 92 8. %l OA = 3 2l
i OD = 2 Al ¢ld dl AC 24+ BD il dous aildl.
AHIAROUY ArsiRinl [Aseil U dot ¢l B, 2L [ A 8 7 5122 ARt G 2wl

110°, 80°, 70° L 95° 21 515 AQPSLA-AL WRUSUAL WY LS A5 7 53 7 vaar 54 8l ?

-~

Aqesil ABCD Hi, ZA + ZD = 180° 9. 1 sl (Al usizeAl AdesiaHl sy 8 7

ApSLEAL 614l % VRUSIL AL 6. L sUL (AR WslRAL AQesIAUL A5 6 7

ol [Asell AR 2 URUR dot B, 2L (A At B 7 51200 Al G 2L

SIS s AQHSIRLAL 6L % VRUBLL 518l SLS A5 7 dHIA B M SR8 2L

AABC 4i, AB = 5 33l, BC = 8 ¥l 2l CA =7 Al 6. % D i+ E 2454 AB 214 BC+
HU[G1e il i, dl DE il dous el A

® NS0 ERW DN

9. gl 8.1 3i, BDEF i+ FDCE A3idRelly Agesiel
2§Ud . 9 dd 58l wsAl 3 BD = CD 7 ¢, dl

E E
HI2 7 2dl AL, dl Al W Al ? / V\
5 C

B

2u5(d 8.1
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10. 2sldt 8.2 i, 6l ANIdROUY AL ABCD 214 D C

AEFG 8. % £C = 55° 14, dl ZF 24l
11 Aesieirl ol % wRUSL qgsiel ¢is a7 sl

Al G 2l G .
12, Apsilrl o4l % vRuslL sleslel $ls as 7 siel

A G 2l

~ ~ N ~N Y o \A E B
13.adrs8l ABCD +L [asel aisofload godl 9. o o
~ N NN Q)‘“,S d .
ZA =35° ¢, dl B 2l 2l 8.2

14. A5l ABCD Al AIHAAAL BRI AHIA 6. %6l AB = 4 A3l €1, dl CD 2l
g5 ool usll
BELERBL 1+ L5 AQPSIRLIAL VRUSAL OBITR 3 1 4 1 4 : 7 9. 2L AQeSIRLAL 68l % bRUL LML,
B W 3 APSIAAL vRUIL 3x, 4x, dx 2 Tx 8.
el 3x + 4x + 4x + 7x =360°
el 18x = 360°, »l2d 5, x =20°
UM, HIA VeI 60°, 80°, 80° A 140° ©.
Gersael 2 ¢ 2ugld 8.3 i, AnMideUy AL ABCD <l aH0i-l oug>ll AD 24 BC -l

-~

HBledll vqsi X 24 Y 6. dal BX 21 DY 1 AC A sd [Big P 24 Q dl 898 9.
AAd 52 5 AP = PQ = QC.

B54 : AD = BC (AHidougy agrsiaidl Hu4-l ouogil) D C
Hi2 DX = BY [lAD= lBC}

) 2 2 Y
qal DX || BY (AD || BC el P
dell, XBYD AHIdRoU% Agesiol 6. ’

(AHAAAL oogA-l 25 N3 AHIA L UHIAR) wgld 8.3

ved %, PX || QD
e, AP = PQ (AAQD uRell, %ui X ¥ AD 4 nealsig 8.)
d % uMlEl, ACPB uidl CQ = PQ 1)
WY, AP =PQ=CQ [ulRoun (1) 211 (2) ud] @)
Geldaml 3 ¢ vigld 8.4 i, AUMidROUY As ABCD Hi, AX i CY 3 -s% ABCD A,
AMAAAL VUL LA 2 ZC AL [gouwst 8. Y A

Al 521 5 AX || CY.
B34 : LA=/C
(AMIARGUY ALPSIRLAL ALHALHAL BRI

L1 1
e, o LA= S LC X
25(d 8.4
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wied 3, ZYAX = £YCX 1)

ZAYC + £YCX = 180° (5128 3 YA || CX) (2)

e, ZAYC + LYAX = 180° [uReun (1) 241 (2) uRdl]

al, AX || CY (828l 205 ds 5180 UR5512 S1U dl d UL AHIdR S1U)
LAY 8.3

L. AQSIAHL 215 VRl U 108° 8 A 6UslAL AU VRIS AHIA 9. UAS AHIA VRUHAL HWY
9L

2. AMdol AsioL ABCD Hl AB || DC dal ZA = ZB = 45° 6. audol Aesilel vl C 2t D Al
WY 2l

NN \

3. AHAROUY ASIRL 518 Sl dell s vpeudl [RRWGgmiel el 6L dd a2l vgll 60° 9.
2L ALSLRLAL GHL % VR QAL

~ NN

4. AHoUY AsRL ABCD i, D U2l 61y AB « elRe A4 AB -l £CUOL 9. AL AMHOUY ALesIAL
6{4L o BRI QAL

5. uHidRoU Adesiel ABCD i [asel AC u 6 Big»il E 4 F 2ial dlai 9 3 %2l AE = CF 2.
AU 530 5 BFDE AHidRoUy Agsiol 6.

-~

6. AB || DC $ld ddl uxdel Aqesil ABCD i, E 3 ol AD « wilbig 6. E wigl uar adl

-~

A AB A AU el vl BC A F ul €92 9. Aulid A

52 5 F 2 BC o welbig 6. [ @ AC A %] ‘ :
7. 2uglct 8.5 ML eldicdl uHBL A ABC -l RiRifsig2ll A, B
2§ C Higl 2gsH ougil BC, CA 21 AB <L duidR
¢y ddl mupll RQ, PR 24 QP €3 €. AlBd 3 5 3 c
BC = lQR.
2
8. udony Bisiel ABC 4l ouyil BC, CA il AB i
wBgul visH D, E 2 F 8. alsid s 5 A DEF v
ugL AHeuy [Asiel .
2U5(d 8.5
D Q o
9. AHIdReUY Asl ABCD HL P 2 Q 3L »iisd
AHAHAL oYL AB 2t CD, udl 2al (Bigril ©
5 ol AP = CQ ad. (il sl 8.6). Albid 531 5
A B AC i PQ U2 g0l 9.

p
2154 8.6
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10. >usldt 8.7 i, P 3L Auidrouy Adsial ABCD L A D
61y BC o H2ulbig © dal ZBAP = ZDAP 9.
A 521 5 AD = 2CD.

P
25(a 8.7
[A2gd sausil usi
Belg2BL 1 : PQ 24+ RS, 6l AHIA e AHIdR ulvidl
9. PQ 21 RS U L ¢y dal 516 Big M 4 [big2ll Q P Q

e S A A 9. dal P Higl QM A AHIdR €l wie N

R isfl SM A Aidz ¢l ddl il siseilad Big NN/ M

Hi 9% O, ABIA 5 5 vUvisl MN 24 PQ AHLA 24

YU UHIdR ©. K 5
B34 @ uud 2uhd Al WAL usla el (pusla 8.8). 25(d 8.8

PQ = RS i+ PQ || RS 20U & Hie PQSR AHidRo1Y A5 9.

ayl, PR = QS dal PR || QS 1)
¢, PR | QS

"2, ZRPQ + /PQS = 180° [R5l 215 % ouY U id:5R)
wed 5,  ZRPQ + ZPQM + ZMQS = 180° ?2)
e PN | QM (AL gIRD)
Hie, ZNPQ + ZPQM = 180°

sed 5,  ZNPR + ZRPQ + ZPQM = 180° R)
ael, Z/NPR = /MQS [uReun (2) 241 (3) udl] (4)
d % UHIGL, ZNRP = /ZMSQ 5)
w2, APNR = AQMS [veu, (1), (4) 247 (5)L BGuAlalL S|
asl, PN = QM i1 NR = MS (53U (sl 2143u i)
¢d, PN = QM i+ PN || QM €.

dell PQMN A¥idRoUy Adpsiel 4.

al, MN = PQ 21 NM || PQ.

~

BELSRWL 2 ¢ A 521 5 AHIAROUY Agrsil 515 uaL [@Asel ded 6L 2is3u Busiani [ony- 53 9.

o

B5a @ weAYRAsHL A uAY 8.1 L Al il
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Gersanel 3 ¢ Awlbd s 5 MUy ALl
oUgUAL HABIESA sHUL Al oidl Aqrsia
dollRA U 8.

B4 : w1 5 ABCD Aoy A5l ® dal P, Q, R
2§t S sH Uyl AB, BC, CD i+ DA -
wBlgil 9. (sl 8.9). AC 2 BD A il

(31518 ABD uRdl, »tyeiq

SP= + BD = 2u5(d 8.9
2

SP || BD 44l (5128 5 S 2 P weulog2l 8.)
Y Y 1 N\
d % UHILL, RQ= 7 BD 211 RQ | BD
Hi2, SP= RQ i1 SP || RQ
dell, PQRS AMIdR6UY AdsIRL 2. 1)
asll, AC L BD 9. (AHoUY Addslani [Asel IR dot §lu)
w4 PQ | AC (ABAC u24))
21¢l, SP || BD, PQ || AC i+ AC L BD glaigl,
wued SP L PQ, Hadl, »i2d § ZSPQ = 90°. ?2)
412, PQRS doiaizy 8. (=44l PR = QS dlaigl PQRS doiry 8.) [wReun (1) 211

(2) U]
BELSBL 4 = Aoy AL [Asel d-l S5 215 v gool 8. ABd sA 3 A 2wl veud)
AL LRI URL ML,
Bie @ wel el 2d uHEL 2usld €= (psl 8.10). dui, Uuideny Adssiel ABCD i [asel
AC, ZBAD + g3l 8. »i2d 5 ZBAC = ZDAC 2Uud 8. U4l ZBCA = ZDCA qlHid 54, 6.

AB || CD -l AC d-il 8[est €. A B
w2, Z/BAC = Z/DCA (>l yousy (1)
d % uHLeL, Z/DAC = Z/BCA (AD || BC u=4ll) (2)
uidg, ZBAC = Z/DAC U4 9. A3)
Hiz, ulReud (1), (2) it (3), udl
ZBCA = ZDCA b 215[ 8.10
ALY 8.4

1. w5 qulgouy sesial Bisien sddld 215 2RA 2dl Ad 2uddl © 3 el ARy 24 Bl
s VL WAL €l ABA sA 5 A veudl BRG] wR 2udd Alad RRilGg
Bsiadl seiq geust 9.
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10.

11.
12.

13.
14.

15.

16.

17.

18.

A8 - 443U Usll
AHIAROUY Agsiel ABCD Hi AB = 10 A3l 24+ AD = 6 A3l 8. ZA -l [gouws DC + E
Hil 8. AE i+ BC - dollddl d [bg F 4l 4a 6. CF <l dous il
AC = BD 81 ddl Agrsiel ABCD Hi 6yl AB, BC, CD -l DA il H=1[5ig21l 2454 P, Q,
R 1 S 6. 0ot 5 5 PQRS AHeUy AQsIeL 6.
AC 1 BD €l ddl Agrsiel ABCD Ui, 6uyg»il AB, BC, CD 2isi DA il 4e[Bigail 2454 P, Q,
R 24 S 6. Allid 521 5 PQRS doidlRA €.
AC = BD »1 AC L BD €4 ddl gl ABCD 4i, olgg»il AB, BC, CD i+ DA i
U Blgvil visH P, Q, R 244 S 6. AUlBid 521 5 PQRS ARA 9.
AHIAROUY ALl (5] dril 215 veuA g0l dl AUBId 53 3 d AHOUY AL .
AHIARGUY ALl ABCD Hi P 241 Q 1 eisH AMAUAAL Uyl AB 244 CD Al Hefbigail
9. % AQ L DP 4 S i 98 i BQ 21 CP <L R 4l 992 dl ullbid 52 5 PRQS AHId01%Y
ApsieL 6.
Agesiel ABCD i AB || DC i AD = BC 8. AUBid 531 5 LA = ZB 2t LC= 24D 8.
»115ld 8.11 i, AB || DE, AB = DE, AC || DF
210 AC = DF ©. 01l6id 521 5 BC || EF i
BC = EF.

AABC Hi, wodlL AD « weilbig E € dal BE

A
~ . N ~ N T NN B
4 dolladl d AC 4L F 4 98 0. AllBid 520 3 N
F
C

1
AF = 3 AC.

D

2u5ld 8.11
AL 52 5 2ARAAL olgdlinl Halbigdid sUHL Asalell oirdl Adssiel weL 2A1A 6.
AHAOL ALeSI8L ABCD Hi, AHIAR  $ld ddl 6uy>il AD 244 BC -l Hefbig2il 2454 E 244 F 6.

Y h 1
AUllGId 531 5 EF | AB 2L EF = 5 (AB+CD).

[42 2 BE A 18l 24 de doudl 5 %2l d detdd ouy CD 4 G 3l 8t
AUBLA 53 5 AHIACUY AQesIRAL vRudidL [getwsiel oirdl Adusiel dorliay ©.
AHIARGUY Aesiel ABCD Hi P 24l Q L v AL 6l AD il BC U »idel »lal

N

iyl © 5 94l PQ [Asel AC »i BD -1l 9elig O wigl Rk ad. ulbid s 3 Big O 2
PQ - g3l 9.
doii ABCD i [asel BD 31 /B 1 g0i1ol 8. Albid 531 3 ABCD 2l 9.

-~

AABC 4, 61yl AB, BC 21 CA-ll HABg>il 254 D, E 2 F 0. q2ufbig2l D, E 24 F,

A4 %isdl AABC 1R 1534 Bsieiml [Qeulsd wd 9 du aulbid 2.

A 52 5 undol agesiaml, [@seial qeabigaia wsdl v wude agesierl adia

UYL AHIAR S1Y. 9.

AHIAReUY AQseL ABCD 3l 61y CD o ®eiltig P69, C wiell w2 adl 4 PA < A¥idR $ld

ddl v, AB < Q Mi 2 dolidd vl DA A Rl 98 €9, alldid 521 5 DA = AR 2+ CQ = QR.
[



AHIAROUY Agpslald, aaAsn 21 Bsia assn
IR

[adouadis
Yoy Aseuil i uReuHl
ol AHdAld duglid dasa 2 sugladl viex-l uead Wy ©.

(i) (iif)

25ld 9.1

@)

ol 2igle gl AAACAL AHAeld ool (gl 9.1) ¥ &z Alel oliflas uRwUHL gl sl 530
Astd il uea eald 8. udl 2iglaiial Astsod 1Y AL HIZ ARA 15U S UG HsH B,

e %l A ABC = A PQR, dl ar (A ABC) = ar (A PQR)
urdely sugld ABCD < e &-s0 R 2L 6l Busisfla desl R il Ry Al &o1s0livl qalou %24,
ay 9. 224 5, ar (R)=ar (R) +ar (R)

C

A B

2usld 9.2
o 6l 253U uslavlidl 850 AL €l 9, uel de udlu dxal e el
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aAlBd - AHAUIU Usll

AHIA0UY A5l (A58 AHIdR0U% AL 6L AHARL BLsisidi [aeuas 53 8,
() s % WAl YR 2iddl 2 AHIAR WAL 25 A8 a2l vUddl AMIAROUY AsiRllel
EALs0l AHIA Sld 69,

() 25 % WAL U 2UAAL A AHIAR WAL A5 A8 A Ul UHIAROUY ARl Hie
AORIRAAL EASN UHIA SIU .

AU WAL WR 2UAAL el AHIAR UL Bl a2 2UAAL AHIAROUY ALSIRIAL 82501 UHIA
€l 8.

2S5 % WAL UR HUAAL il AHIAR UL 28 o1s A2 Bdal BLSIRLAL &otsn AUl S1d O,
s % WAL U HLAAL e AL ASSN HAAAL PASIRIAL 243U A A1 €l 6.

Bisted as1s0, 25 % Wl U ddl e dHIdR Uil Bl 92 2uddl AHIdReUY
ALSIRLAGAIRAAL AASN 5L AL, 1AL 6.

A (518l i AHIARGUY AR 215 % WAL U 2Uddl Sl 2 AHidR vl s a2
Al €, dl PSR Bos0 AHIAROIY AQPSIR-AL 8AF0 Sl Y, A 8,

[t uet oin a Ad 2uten R [Qsedwidl du [Aseu urie 530 DA usi-l vudl oou Y2 :
Belgael 1 = [Aseiidl wu 12 A3l 24 16 A3l 8, dar uony agesiaddl wawa-l ouyiini

W Gig i sl 2l 2l assn ...

G : usladi ABCD uvony Agsial 8, d«dl wawdl
6Lyl HABlgptn Al 2Ll 2usld deidin PQRS 44l

(A) 48a4l>  (B) 64 Al
(C) 96> (D) 192 A

Aol PQRS o éotsn = 48 A

B : (A)
dLY 9.1

At acs oA d Jd 2uba AR [asenuidl Ay [asew uaie 530 suis 1 A4l 10 cwon wal-l vudl
oYU YR :
1. gl s dq ol ... Hi Qe 52 6.

(A) AHIA &stsualon Busiell B) s34 [Bsiei

(C) stesl Rl (D) unlgony Bisiell
2. Al suglasidl (ugld 9.3), 25 % AL WAL UR 2 AAAR Ul B Az .

A
/

gl suadl ©.

(A)

7L
7 XA/

D
C
(B)
A B S
(C) 25(d 9.3 ¢ D) N
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3.

10.

8 Al 2l 6 AL sugplAl doliRUl WAL olgldl Helbigaiia wisdl tiedl sl

(A) &sisn 24 AHZ ALl doiy (B) &sisn 25 AHZ Aol AlRA
(C) aotsn 24 A Aol AHeoL Agesiel (D) &2A50 24 A Aol AHouy Agesial
. . ~ N D N
sl 9.4 Hi ARy AQsLA ABCD < &stsu ......... ¢
(A) AB x BM
M
(B) BC x BN
(C) DC x DL B
(D) AD * DL 25 9.4
L5l 9.541 AHIdROUY A5 ABCD il dop2dizd ABEM Al &o1s0 AHIA €14, dl ........
(A) AouA. ABCD il uRMla = agrsiet ABEM <l wlRR[ 1\3 D E ¢
(B) el ABCD «{l uRR[ <agesie ABEM il wlRM ([
(C) .ol ABCD «il ulRBifa > agesier ABEM il wlRM ([
(D) oA ABCD il uRRa =
N 1 A B
A5l - (ABEM SIRCIEIEIR) 2R 9.5

Biseil oyl qabigpil va ddl BB U8l 515 s A A Big dils as @
AHIARGUY ASIBL AAS ...

(A) % ar (ABC) (B) % ar (ABC) (©) i ar (ABC) (D) ar (ABC)

23{3\ % WAL UR Vil AHIAR UL A8 A 6L AMIARGUY AQPSIRIL 2Uddl 8. dHsil 8250l
ARITR <o

(A)1:2 B)1:1 ©)2:1 D)3:1

Aqesiel ABCD il (3551 AC det AU &nisndion o @il [l 53 9. ABCD ...

(A) AR 9. (B) AHOUY ALSIRL 9.

(C) AHIdROUY AsI8L 9. (D) (A), (B) 5 (C) xial 515 €ld d 33 -,

A [BLsIRL el AMIARGUY ARSI S5 % WAL UR 2l AHIAL AHIdR el ols a2l »udal
€l dl BLsile astsn i AHIdReUY ARl 8AF0-L JRITR .........

(A)1:3 B)1:2 (C)3:1 D) 1:4

AL Asiel ABCD il quidR ol AB = g Al 24 D C

DC = b a4l 8. (Pugld 9.6). E 2l F AHIdR < ¢l adl
oAl Helbigyil 8. ar (ABFE) »i ar (EFCD) -l

ARITR .o
(Aa:b (B) Ba+ b):(a+3b)

(C) (a+3b): Ba+b) (D) (a+b):(3a+b) A a ?
2u5ld 9.6




68 AR - AU usll
$120 AlRa g5 weusll us

AL @Al A © 5 AU d LU S dAHIRL A6 ASIRAL.

BelswL 1 : % P 3l A ABC il 4ol AD < 51 [big, 84, dl ar (ABP) # ar (ACP).

B5A : U™, 5129 3 ar (ABD) = ar (ACD) 21 ar (PBD) = ar (PCD),

Sed, ar (ABP) = ar (ACP). P _E Q¥

Gelgaml 2 ¢ >ugld 9.7 1l PQRS it EFRS 6 AMidRoUy

NN A ~ 1
AqsIBlL 89, dl ar (MFR) = 5 ar (PQRS).

Biel : A, 518 5 ar (PQRS) = ar (EFRS) = 2 ar (MFR). o o
LAY 9.2 25ld 9.7
QAL (AL A O 5 AAU d BRUAL A AR AL ASIAL ¢

1. ABCD 2 A¥idRoUy Adesiel 9 i X 2L AB o u=ilelg 9. 9l ar (AXCD) = 24 A4 dl
ar (ABC) = 24 342,

N

2. doidiRa PQRS, 13 Al Biosulaial aqurl adaiadi »uddl 9. A 210 PQ uasi 515 [Big 0. A
PS = 5 A4, dl ar (PAS) = 30 A+~

3. uuidRely Aesiel PQRS < &isnl 180 A2 8 x4 A 2 [asel QS < 516 [big 9. A ASR+

517[501_ = 90 é\l"ﬂz. E P F

A B

4. 6L quoeny Bisill ABC i+ BDE Uil € i D 2L BC
o 1
H26lg ¢9. dl ar (BDE) = L (ABC).

5. 2liglct 9.8 1L ABCD il EFGD A¥id6U% Adpsiall 6.
G L CD + #elelg 9. dl 5 G C

1
ar (DPC) = 7 ar ( EFGD). wusld 9.8

25 ogalell usil

Belda0 1@ PQRS s 2ARA 8. T 244 U 2A4sH PS 2L QR <l P T S
weBgall © (2usld 9.9). A PQ = 8 AL, dl A OTS < &~isn
2lHl, o4l O 3L TU >t QS+, 99elsig .
Bsd : PS=PQ =8 Al 24 TU || PQ

O
- ST = lPs—l x 8 =4 34l
" 2 2
. PQ =TU = 8 ¥4l
1 1 .
‘.OTZETU=5X8=42{‘{1 Q U R

2u5(d 9.9



AHIAROUY AGHSIRLT A5 2 (stad assn 69
BN 1 . = o) S\
OTS o A5 = - x ST x OT [sal OTS s12s12 [Bisia 9]

1 N =
=§x4x4a=ﬂ2=8wﬂ2

-~

Belg20l 2 ¢ ABCD AdidReny Adestel © i BC - (g Q Y4l dendl § %2l AD = CQ
(sl 9.10). %t AQ 21 DC < P [bigHi 992, dl AWlid 520 5 ar (BPC) = ar (DPQ)

B34 : ar (ACP) = ar (BCP) (1) A .
[AUI WAL U BAAL A AUdR Al o8 a2 sl /w
[Puswai

ar (ADQ) = ar (ADC) )
- ar (ADC) — ar (ADP) = ar (ADQ) — ar (ADP) D : €
. ar (APC) = ar (DPQ) &)

(1) 244 (3), urdl,

ar (BCP) = ar (DPQ) 9

25(d 9.10

LAY 9.3
1. 2ugld 9.1140 PSDA AMidRely  Addslel ©.

p Q R S
PS Gux 2al [Gigxl Q 1 R & 35, %4l
PQ = QR = RS i1 PA || QB || RC. A8t 431 % E
ar (PQE) = ar (CFD).
F
A B C D

2usld 9.11

L
2. [Bigall X 2 Y Bistel LMN L euy «
LN u2 2ldal  ©, § %9l
LX = XY = YN. X 4igl LM 4 v
YHIAR elRel v, MN < Z |l 1AL 9
(uglct 9.12). Aleid s 3,
M Z N

ar (LZY) = ar MZYX)

2us(d 9.12
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3. AMIdReUY AQslel ABCD < astsa 90 A2
(gl 9.13) 9.

(i) ar (ABEF) (ii) ar (ABD) (iii) ar (BEF) #ull.

4. A ABC i D 3L AB < 3=lsig 9 214 P 21 BC
U 516 [6lg 9. % PD - AdidR vl CQ 3L AB
4 (g Q |l AL (2uslct 9.14), dl AlBid s 3,

ar (BPQ) = % ar (ABC).

aAlBd - AHAUIU Usll

5. ABCD 2 2R 8. E 2 F 2453 BC i CD -
we[sigl . % R 3 EF o welelg (usld 9.15) €y,

NN

dl B s 5,
ar (AER) = ar (AFR)

6. uMideuy Aesie PQRS -l [Asel PR ur 418
(g, O & (2uslct 9.16). wlad s 3,

ar (PSO) = ar (PQO).

D E C
B
2u5(d 9.13
A
C
P
2usld 9.14
D
F
R
E C
2usld 9.15
R
Q

25(d 9.16
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7. AHldeUy Agsel ABCD Hi BC A 2idl Jd doidl
8 5 %l BC=CE (2usld 9.17) 4. AE 5 CD 1 F
wi e 6.
% ar (DFB) = 3 A%, dl anidreny agesiel ABCD <
8150 AL,

E
2usla 917
D
Q
8. uudot Aqrslal ABCD i AB || DC »i L %1
BC xwleig . L igl yar adl vl PQ,
AD 4 AHIdR & i AB A P i dal DC - L
dolladl Q Hi 10l €9, AllLd 53U 3,
ar (ABCD) = ar (APQD)
A 4 B
25ld 9.18
A R D
9. g Agsieil oyl HAbigHIA sHUL Bl 2 dl, S
A 53 5, defl ALl AHIdRGUY AesiRl astsn Hudl
Arslall Asts0l sl »ige G B (25l 9.19). F
[ : BD %lél i A 4igll BD U ol £121] B
P
C
2U5(d 9.19

[A2gd sausl usi

A

: . D
Gewawl 1 : vugld 9.20 4L ABCD L AHIdR6UY
Arsiel 9. BC uxdl [(igll P i Q, BC 4 =
AHIA GUALHL [Aeuo-t 52 6. ABd 53U 35,
1
ar (APQ) = ar (DPQ) = 5 ar(ABCD)

2usld 9.20
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Bsa : P o Q Higl AB < uHidR €l du PS A S R D
2§+ QR €lRl. ¢4 PQRS uHidweUY AQesiel €

NN N ~ 1
A, del wdL PQ = g BC.

1 N .
ar (APD) = —ar (ABCD) [#4lL WAL AD 24 BC | AD] (1) c
P Q
2usld 9.21

ar (AQD) = % ar (ABCD) Q)

(1) 24 (2), udl,

ar (APD) = ar (AQD) R))
ol o192l ar (AOD) 6lle $dl,

ar (APD) — ar (AOD) = ar (AQD) — ar (AOD) 4
ar (APO) = ar (OQD)

ol olly ar (OPQ) GHRdl,

ar (APO) + ar (OPQ) = ar (OQD) + ar (OPQ)

ar (APQ) = ar (DPQ)

Héc\g, ar (APQ) = % ar (PQRS),
a4l ar (DPQ) = % ar (PQRS)

N 1
gd, ar (PQRS) = 3 ar (ABCD)

adl, ar (APQ) = ar (DPQ)

% ar (PQRS)

1 1
=5 X 3 a (ABCD)

1
& ar (ABCD) ) R \ p y

Gelsael 2 ¢ disld 9.22 Ui, Wl I, m A n
Wl 9 5 /|| m @A vl n B Wl ] AP UL A
Wil m A Q Hl e B, Agsiel ABCD < [Rilblg
AR UR 8 A RRUGEML C 24 D 2L v m
U2 8 2 AD || . sidl 3,

ar (ABCQ) = ar (ABCDP) C D Q7 "

Gi4 : ar (APD) = ar (AQD) a) 2u5ld 9.22
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[AHLA WAL AD 17 AHIdR 3w AD 249 5 Al 423 20da].

ulReuM (1) Hi ol 6l ar (ABCD) GHRdl,

ar (APD) + ar (ABCD) = ar (AQD) + ar (ABCD)

w2d %, ar (ABCDP) = ar (ABCQ)

. ~ N N DY N 1 NN
Belsel 3 ¢ usld 9.23 4l BD || CA. E ol CA « u=ilélg € 24+ BD = 5 CA. AWlAd 52U 5
ar (ABC) = 2 x ar (DBC)

B5ct : DE %Al 21l BCED i uHidous Adrsiel 9, 3 ol

BD = CE i< BD || CE \
ar (DBC) = ar (EBC) 1)
[AMI WAL BC 247 AHIAR vl %13 a2 Al b E
A ABC Hi BE 242U 9.
1 b ¢
al, ar (EBC) = — ar (ABC) w15 9.23
dal ar (ABC) = 2 ar (EBC),
qal, ar (ABC) = 2 ar (DBC).

KR 9.4

1. Aoy Agesiel ABCD il ol BC U2 215 Big E 6. AE 21 DC < dolddl d F |l 44l .
A 52 5,

ar (ADF) = ar (ABFC)
2. uuideny Agesiadl [@sul O Bigdl 98 9. Big O Hidl €3¢l v AD AL P 4l 214 BC 4 Q 4l
B2 9. ealdl § PQ ¥l AMId0UY A58 AU dxsndlon 6L colml [Aeios 53 8.

N

3. s ABC <l ve1ouall BE 244 CF, G Ml 9% 6.
AGA 52U 5, A GBC < &a1s0 = Arslel AFGE- éotsa.
4. U5l 9.24 i, CD || AE i1 CY || BA. Al8id 521 5,  ar (CBX) = ar (AXY)

C

D

2u5ld 9.24
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10.

aAlBd - AHAUIU Usll

AucoL Aqrsiel ABCD 4l AB || DC. DC = 30 43l 21+ AB = 50 A3l %l X -1 Y 24453 AD
~ . . NN ~ N 7
2, BC AL #=i(61gotl ¢ld, dl AUlBd $2U 5 ar (DCYX) = g a (XYBA)

A ABC 3 L 2l M 2458 LM || BC ad dal AB -l AC Uzl Bigall o, alsid s 5
ar (LOB) = ar (MOC) A

gl 9.25 Wi ABCDE s uausial 8. AC A
AHIdR BP idl {ld g3 9 % d DC A dotlddl P
Hi 24 AD 1 uHid2 EQ, CD A dellddl Q Hi

Hol ¢9. AUBA 53U 5, ar (ABCDE) = ar (APQ) E
P C D Q
25ld 9.25
A ABC | #e1ouil sisellood G 4 98 9, caldl 3,
1
ar (AGB) = ar (AGC) = ar (BGC) = 3 (ABC)
Q A P

2l5lct 9.26 Ui X 2 Y s AC i+

Y X
AB Al H2ufsig@l 9. QP || BC i

CYQ i+ BXP vuil 6. AUl 42U 5 0

ar (ABP) = ar (ACQ). B

C
25ld 9.26
E/\
B £ A
25(ct 9.27 Hi, ABCD A+t AEFD 6 dHidReuy
Acesiall 9. A6 52U 5 F
ar (PEA) = ar (QFD) [ : PD %L4l).
C D
Q
25ld 9.27
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[@donadis

Yoy AseUl 2 uRRuHL

adul, Blosul, @, dl, gdvis, A5ld AqesiaL.

Aqa (2adl 53U Aquil)-il AHIAL DAL S HUANL AHIA VBRI HidR B,

-~

A adn (ual 2s3u aduil)-dl AR S (Al Shl) U0 BIARAL VRUDL AHIA S,

N AN

dl o @Al AU 1Y B,

adadl Seuiell @Al U eRdl dot @Al gMIdL 9.

A aduil Sesial €1el il @Al LML dl d L DAl dol Sl 8.

S AU [Bigil 25 A WoL A Ad UUR Ay B,

adu (aal 20534 dqoi)l AMA DAL Al 3 (Al Shl)ell A 2id2 §ld 8,
aqadl Sl A id? 2uddl @il dons dui S 9.

NN e

A aduil 6 DAl A €4, dl dHA AU AU H5ZU S O, e def udlu. %l 6w
53U Sl dl AU AU DAL AU €Y 9,

aduirl 53U AU Srs UL AMLA VERUBDL HidR B,

AqaHl AU S 210 HidEL VeI, d8l ddoel oisl-l GoL UL SIS UL [Blg 2010 Mide
BRIL 5l 6HRLL S1dL 6.

Aquel 5 % grivigil BUAAL VRUML AMIA 1 6,

A ol [Blgalid sl wuvis, ivigd aadl il i ds wudal ofle o Bigil o
AHLA VRUL A, dl A% [Bigil grila €l 9.
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@ Asld AGHSIRLAL ALHALAAL VRUSAL gl AL 180° Sld 6.

o %l 515 AQSIRLAL ALHALHAAL VRUSL lgetl UL 180° S, dl d Adsiel Asld Agesial ©.
[t At o1 a DA 200a 02 [Asedimial Aoy [Asen ue 53 suis 1 244 2 A usii-l vudl
UL YU :

Gewgel 1 ¢ wugld 101 AL 6l 24534
aduiinil w5l O 24 07 9. AU AXB v
O UL 75° «Al VR id2 9. 2 AY
A'Y B’ 575 O 0100 25° il bRl Hid?

\ N N\ N N ‘
9. dl AMA X B2 A’ Y B’ L O\QQLLTLQ A
.......... ~
X
A)2:1 B)1:2 B
@) ®) 2u50d 10.1
©)3:1 D)1:3 <
get (C)

Belsaml 2 ¢ usld 102 i AB 4 CD, O 3[=d ada-l 6 A @il 8. OP 2 0Q »isisi
a2l AB 2 CD 4+l dol 9. % ZPOQ = 150°, dl ZAPQ = ..........
(A) 30° (B) 75°
(C) 15° (D) 60° A C
Bid : A OPQ di OP = 0Q
Z0QP = ZOPQ =k

¢d, ZOQP+ LOPQ + ZPOQ = 180° b e
kK + k + 150 = 180° B
D
2k = 30
k=15
.. ZOPQ =15 X 25(d 10.2
qull, ZOPA = 90° ©.
.. ZOPA = ZOPQ + ZAPQ
90° = 15° + ZAPQ
75° = ZAPQ
CEIN )
ALY 10.1

Qe At 611 A Ad 2uual 4R [Asennizdl Aeu [aseu e 530 suis 1 9l 10 A wsiHl vudl
oYL YR :
1. AD % dqui-il @ © 24 AB 3 @41 9. %l AD = 34 A+l, AB = 30 A3, dl adu-il 32l AB

(A) 17 @l (B) 15 A4l (C) 4 Al (D) 8 AHl
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2. »usld 10.3 | % OA =5 4+l, AB = 8 A4l 21 OD L AB A dol

e, dlLCD = ..........
(A) 2 Al (B) 3 &l
(C) 4 a4l (D) 5 Al

N\ aY N N N N\ N N N D
3. %l AB = 12 «dHl, BC = 16 a4l 214 AB 2L BC < 4ot ¢y, dl sl 10.3
(Big>il A, B 21 C izl uaR adl aga-l B ... -
(A) 6 a4l (B) 8 Al
(C) 10 Al (D) 12 Al
(0]
4. % 2isld 10.4 4l ZABC = 20° €14, dl ZAOC = .......... A =B
(4)20° (B) 40° W
C) 60° D) 10° ¢
© ®) 2us(d 10.4
C
5. % usld 10.5 1l AOB 21 ada-il @i $iu 2 AC = BC,
dl ZCAB = ......... A . B
(A) 30° (B) 60° ©
(C) 90° (D) 45°
2usld 10.5
C
6. 8 gl 10.6 1L LZOAB = 40° ¢, dl ZACB = ..........
(A) 50° (B) 40°
(C) 60° (D) 70° ©
40°
A B
2u5(d 10.6
D ¢
7. % gl 10.7 4l ZDAB = 60°, ZABD = 50° ¢4, m
dl ZACB = ......... A LAY
(A) 60° (B) 50° v

(©) 70° (D) 80° wusld 10.7
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8. %l AB ¥ uRgu-l cuid Sl ddl Ausld Agesiel A
ABCD 9. % ZADC = 140° €id, dl ZBAC = ..........
(A) 80° (B) 50° (C) 40° (D) 30°
9. »usld 10.8 ui BC 3 adoudl culn 8 24 B o c
ZBAO = 60°, dl ZADC = ..........
(A) 30° (B) 45° (C) 60° (D) 120°
D
2u5ld 10.8
10. 15l 10.9 4l ZAOB = 90° 24 ZLABC = 30° $lx, C o

AL ZCAO = .......... N
(A) 30° (B) 45° (C) 90° (D) 60°
A\/ B

2usld 10.9

5120 Al 5 wawell usil
QAL (AL A 9 3 U A @RUAL A dHIRL Gri-l dddL ASIAL ¢
Belsml 1 : adadl 51 uel 6 [Bigyil 210 DA HldIAL WRUIL A €Y B,
B5a : A, 9 6 Bigall 25 o gavis (a3 2R) U Adl €ld, dl URUML AMIA SlU, -l
YHIA A Sl
Belsm1 2 ¢ 10 A3 2t 8 AL dondil aduril 6 il Sraafl a5 8.0 A3l 2t 3.5 A3l 22 B,
B5A : A 5100 5 HE| ol Sesell 291 2id S,

Y 10.2

AL [l A 9§ AU d BRUAL 2 dHIRL Gl dAiddl ASIAL ¢
1. ada-l 6 @il AB 2 CD el 4 A+ 2id2 diu, dl AB = CD.

0 3(=d aqa-l 6 @il AB 214 AC 21 OA -l [436 6ugat €14, di ZOAB = ZOAC .

-~

O 4 O Srsalll 6L 31534 Aol Hsoiload A 2 B Bigyiini 88 dl LAOB = ZAO'B.

oL A Bigaliigl 215 adu el asi.

c

ssollonel 6 Al g2 udal 6 [Biedil A x4 B diell uuR ad 3 A3l Blaia] aqa ekl as.

A AOB adui-il @4l i1 21 C 31 adul v+ [Big ¢l dl AC2 + BC2 = AB2,

¥l LA =90° /B =70° £C = 95° »-l ZD = 105° €14 ddl Asld Agsial ABCD wal,

®° XS e B

A A, B, C, D AR [Bigall 8ld, 5 ¥4l ZBAC = 30° 2+ ZBDC = 60°, dl D 3L A, B %t C
izl uAR Adi adad S .
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9. ol AR Bl A, B, C 2+ D "2, ZBAC = 45° 21 C

ZBDC =45° €1, dL A, B, C, D 9dlu . D E
10. 2usld 10.10 ¥ 21 AOB @iy $ld 24 ZADC = 120°, dl

U
g5 ogalell usll

2usld 10.10
. ~ c N\ N ~N 1 N NN
Gels2 1 : 20500 10.11 4L AOC 31 aq-il ezt © i A AXB = — A4 BYC dl ZBOC €.

N 1 N

G54 : AYAXB = 5 A BYC glaugl, B Y
X
1
ZAOB = E /BOC

) A (') C
Y, ZLAOB + £ZBOC = 180°
N 1
d%ﬂ, E /BOC + ZBOC = 180°

2usld 10.11

2
A1yl LBOC = 3% 180° = 120°

Gelganl 2 ¢ 25l 10.12 1L LABC = 45° 8,
dl A 52 5 OA L OC.

- 1
Bs4 : ZABC = ELAOC

wed 5, ZAOC = 2/ABC =2 x 45° = 9(°
DT OA L OC

2usld 10.12

AR 10.3

~ ~

1. % 51 ddasti A AXB 2 CYD %1534 €14, dl AB 2t CD il 9Liid? a4l

2. A adn PXAQBY -l @l AB il doilgoiss, adun P i Q 4 88, dl ulbid 531 3,
A4 PXA = A4 PYB.
3. A, B C adu urei ~21 Bigil 8. 0 521 3, AB, BC 21 CA i doilgoucsst dou+l 8.

4. AB 27l AC ddqa-l 6 A il 9. qlbid 53 5, ZBAC AL [Bonrs aduil Swwuizll ui
Al .

-~

aqa-l 6l @il Heabigpiia Biidl iy, ddadl Sesial uAR i, dAbid s 5 il
a2l AHIAR 6.

9]
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10.

11.

12.

13.
14.

15.

16.
17.

18.

AR - AU usl

ABCD 25 agrsisl 8. A Swsalg] adn B, C 2l D il war ad 9. wlbid s3 3,
1
ZCBD + ZCDB = EZBAD

O3 AABC < WRSw 6 24 D 3 20812 BC o 3eulsig . Absid s 5 ZBOD = ZA,
AL 58 AB U2 6 512518 BLsiell ACB 2 ADB isoilondl [Gag thdami 2udal 9. Aulbid
52l 5 Z/BAC = ZBDC.

ada-l 6 @il AB it AC 35 2010 2isi 90° 2l 150° il vRUSIL 2Aid2 9. % AB 4
AC 3vseil [ ougat ¢ld, dl ZBAC 2l

% BM i1 CN (st ABC L oug2il AC 2 AB UR elRdl dol ¢, dl Albid 530 5 [Glgail
B, C, M i N grily 9.

Aulgoiy Bsdl wdla AHIdR eledl v, AL ougia 92, dl Abid s 5, dadl Ldl
Agrsilel Asly 6,

A Asle Agesiaedl AMAFAL oug -l s B A S, dl B S 3 A [sel ul
AHIA Sl 69,

Bisiel ABC o uRsw O 8. Abid 50 5 ZOBC + ZBAC = 90°.

ada-l al d-l Bl wedl 9. 1l @l g2l ARgTLES U AidIAl vl HY ML

D

o

QQ

Z/CBE 24l

C
2l 10.13 4i, ZADC = 130° 2+ @4 BC = @4l BE. A O>B
E

2usld 10.13

C
/\

25l 10.14 |l ZACB = 40° 814, dl ZOAB Al

Aqrsiel ABCD 3 aduidl idold 8 4 AB 3t dsil

A 9 24 ZADC = 130° €, dl ZBAC 24l A B

0 3% 0" 3 6 adell, & Bigil A 21 B+l B2 B, »gld 10.14
(Blg A (2aar B)idl yar adl 2w PQ, 00 -
UHIAR B 27 adulid P A Q ui 92 8. Albid 52

5, PQ=200.
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N\ c ~

19. »usld 10.15 Hi, AOB >l ada-ll 2 & >4 C, D, E

D
C
E
C C . . > . A p B
QoL 1S o8l (Bigil 8. LACD + ZBED < Hiu 2UHlL. w

2u5ld 10.15

-~

20. »usld 10.1641 ZOAB = 30° 214 ZOCB = 57° 8. ZBOC

4 ZAOC AL

N30
570 B

[A2gd sausil usi C
2u5ld 10.16

-~

Gelsul 10 i 530 3 6 [Pt aqoil ot 2l 4y, [Biesii 92l a3 «ls,

Bie : MRS 6L adoil sisofloast st Bigyil A, B 214 C 4i 82 9. guildl 3d o A, B 218 C uudu e,

Ul 2Rl 51 3 A2 AAH Bigil A, B 2 C Higll 35 i Hiol 25 adol Ul Al 9, ddl, A,
B 217 C Higll 6L aqoil iz asS 9% Al oflo 26l 6L aquil ol =l ay Bigaiimi 9€l a3 [,

Belsaml 2 ¢ Wlbid 5 3, adadl Qe 2utal BigHisl v adl adasdl dxm
e Mid]l Alell il ar d [Bigial AR ddl e dol 9,

Bied s 413 3, O 3= Aol viea-l ool »utd [Big P 8. P izl uar
ddl @al AB, @it XY A dot €ld dH el 'Rl 5, P uidl ollw 519 @ CD
w2z a B, O Higl CD A dol ON 251 Adl AONP 3t sizfie Bide 8.
(2usld 10.17). dell dsil 58 OP 21 ON sl 4iel 9. »uugl el a3
Segeil Aol @al, Sl g2+l @Al sdi Il €l 9. ddl, CD > AB. ol
eIl 6t o DAL AB oL Al Al @al 9. d P uigl uaiz Ay 9.
a1 10.4
1. o adasil 6 adi @il sisoflod 88, dl Abid 520 5, s @il DA, olw wdi-l
AU DAL AU SId 6,
A UHAoL ARl AHIAR A Gl dell olgil AR €, dl AU 52U 5 d Asld 9,
A Bisieidl sug2il BC, CA 21 AB il Helbig2il 21453 P, Q il R €l -l AD 1 A @l BC
usl ol ¢ld, dl Allbid 521 5 P, Q, R vt D gl 6.

¢ \ N

4. ABCD i Aideiy Aqesiol 9. A i B 3igl s ada 2id elkd 8 5 d AD « P |l % BC

o o

2us(d 10.17

-~

4 Qi 9z . AbId 52 5, P, Q, C v D >l gdlu 9.
5. A s 5, Bsta S92 veusl staulgenss s d-l sl oug-l deilgonss Ot dl d
Bisiail uRgdA 9e 9.
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10.

11.
12.

13.

14.

AR - AU usl

C

W
adn AYDZBWCX -l 6 @axil AB 4 CD isoiload
stevsl Ot 9 (2sld 10.18). Auld s 3,
AU CXA + 214 DZB = 24 AYD + Au BWC = »dda
/ B
z

A
N
D
2u5(d 10.18

A MUy (S ABC ddad »iddld $1d 24 P 3L @y, 2u BC C
U B ot C R [Blg €, dl auleid s 5 PA 31 ZBPC
AL steL (Bouys ©.

sl 10.19 H adadl 6 @Al AB 2 CD sisellwn E

N N NN “\ A Y 1 N Y
(Gigul 92 €. AUdd sA 5, LAEC = 5 (UM CXA 2 5w B

A=l

A
N NN s N Y
L AldRAL VBLL + AU DYB 2 $75 20101 2ALdRAL ViRLL). D

2usld 10.19

A5l Al ABCD Al AMAHAL UL [Betwst d-l wRgda P ot Q Hi 99, dl usid
53 3 PQ ¥ ada-l e 9,

aga-dl Bt 7 Al 8. 2 Al doudsl wal d- 6 ool [euss 52 8. whid A 3,
ARYTLLS UR WALV MidRAL VRIL 45° <L 8,

ada-l 6 Al @Al AB 245 CD A dotadi d P [Bigui 92, dl Alleid 531 3 PB = PD.

D
N

r Blsatan ada-l 6 @il AB 24 AC 2idl 9 5 32l AB = 2AC. %A p ¥t g 31 3=l AB
el AC vl 2ld2 Sld, dl ABd 530 5 4g2 = p? + 312

c by oY

25l 10.20 4L O 2 aqad 5w 9. ZBCO =30°. x i y 2llHl,
D
C
C

sl 10.21 ¥l O 1 adad 5w 8, = 2usld 10.20
BD = OD »i CD L AB. ZCAB  * 9 5
20l

D

2usld 10.21
m
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e Uudl VRl goLdl,
o uvisHlL dollgeus elrdl,
® 15° 30°, 45°, 60°, 90° [A213+1L LRI 24,
® el UL, UIdL Ul V5 RIL A oSl 6 oiogDliel AAL HUAL 1Y, ddl Busiel .
® el UL, ULdL UReAL VRIL el oLSlel 6L ologBlirtl dsldd AUl €1, ddl BLsisL 2244l
® il widl-ll 6L v A WRBA 2t €, dal Busie 224l
o clildfas -l 2ied s Guswll Fal 5, s5d 2ild MUl 4 uRsHl gl Gualal s34
Sl L.
(At Acw o1 d A 2u0a 1R [Asenuidl doy [@Qseu uie $3 suis 14l 2 awu usl-l vudl oul
YR :
Gelsel 1 ¢ lEd Wuugl i uRsal weedll ... vRil 2L wsd 0.
(A) 35° B) 40° (C) 37.5° D) 47.5°
B4 : %auot (C)
Belsanl 2 ¢ w1 BC 24 AC -l dsldd .......... St UL Bisiel ABC il 2a-Hl AB = 4 A4,
ZA = 60° a4 .
A) 3584 B) 4534 (©) 3=l D) 2.5 Ml
Bsa : Brsiesl -l w2, Bisiadl s15ua oL ool dstdd dedl »llo oiogel il €ldl 37 8.
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